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(2) x=+3+1, y=/3-1,
x2+xy—|-y2
=(x + ) —xy
X4y =2V3 ,X—J’Zz,x)/=(«/§+1)x(«/§—l)=2 , =(2«/§)2—2
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35. (1) x*=27; 4x*=2x+1 ; x—y

(2) a®—b° .
—3x+y2=—3x2+(%)2
36. , é’,x=2,y=§ A} = +4
=-3x+y ”
Y

B =m® —8—2m> + 6m

; wm=2 pf, —-m+6m—-8=-23+6x2—-8=—-4
=-m> +6m—38.

37.

%T: 2.2 22_ 2_2 2
38. SR (x xy+y)-_-x=2+ﬁ,y=2—ﬁ,
= 3xy.
SRR =3x (24 V3) x (2-V3)

=3.

39. (1) a*b+ab?> =ab(a+b)=2x3=6
(2) ca*+b*=(a+b)?—2ab, a*+b>*=32-2x2=35

40. (1) FRX+y=4, gipl(x+y)>=16 ,
Bl x2+2xy + 92 =16 , YEKxE+92 =10 , Fpll0+2xy =16 , frplxy =3 .

(x—»7?=3
=x?—-2xy+y* -3
(2) _10-2x3-3

=1.
41. (1) BRX=m>—(2n-3°=m?—4n* +12n -9
(2) BRI =a? —6ab + 9b* +4a — 12b + 4

42. 2y2—2x , 6.

J?Eﬁ:4a2—4ab+b2—(a2—|—2a+1—b2)+a2+2a+1
43. =4a* —4ab+b*—a* —2a—1+b*+a®> +2a + 1
= 4a* — 4ab + 2b°,
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44. %ﬁ=4a2—12a+9—(a2—4)—a2+4a=2a2—8a+13
ERat—da—1=0 , (fitla*—4da=1) B =2+13=15

8 4
45. 4a* + —a® + —

9 81
R = (x2 —4) (x2 + 4)
(4 .
=x"—16.

46. (1) —2; 1 @] x> —4x+5=(x-2>+1
X2 —dx 4y 2y +5=0,
(x=27+(+1D>=0,
Mx—2=0y+1=0, fmgx=2y=—-1 Jx+r=2-1=1.
x?—1—(2x-3),
(3) =x2_2x 42 '.'(X—1)2>O ’ .'.(x—1)2+1>()
=(x—-1D*+1,

(2

, x2—1>2x-3
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